1.

 (a)

	Selling price per unit:
	
	

	Variable cost per unit:
	
	

	  Direct material
	
	

	  Direct labor
	
	

	  Variable support
	
	

	  Commission
	
	

	Contribution margin per unit:
	
	


	Increase in inventory:
	
	

	Raw materials
	
	

	Work-in-process
	
	

	Finished goods
	
	

	Total increase in inventory
	
	

	Additional inventory  carrying costs
	
	


	Incremental profit:

	  Increase in contribution  margin from new sales
	
	

	  Decrease in contribution  margin from cannibalization
	
	

	  Increase in capacity-  related cost
	
	

	  Additional inventory carrying costs
	
	

	Increase in profits if the new model is introduced
	
	


	(b)
	


	(c)
	Let Q be the breakeven point in units for the new product.


	Increase in inventory:

	  Raw material:
	
	

	  Work-in-process:
	
	

	  Finished goods:
	
	

	Total Increase in inventory
	


	Additional inventory carrying costs 
	
	

	Decrease in sales of old product 
	
	


	Breakeven point: = =

	

	


